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[ PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
| mark the correct choice on your answer sheet.

?I

In spite of the considerable effort ---=-----, many questions still remain unanswered, thus
justifying continuous research in this field of inquiry.

1) taken 2) wasted 3) invested 4) intended

The fact that "innovation" is frequently alluded to not only -——---- the importance of the

topic but also generates much confusion, because its meaning depends strongly on the
context in which it is used.

1) highlights 2) circumvents 3) alleges 4) cites

He was stopped by the police for transgressing the law; he had actually been driving faster
than the speed -—----- -—

1) calculation 2) permit 3) monitoring 4) limit

I thought he was really hurt and became worried but later 1 realized that he was just
------ it.

1) emerging 2) faking 3) revealing 4) deserving

Irene’s arguments in favor of his client's innocence were 50 ——=------- that no jury member
could resist them.

1) colloquial 2) enthusiastic 3) cogent 4) competitive

Believe it or not, laughing is considered to be one of the easiest ------ --— exercises that can
cure many diseases.

1) transparent 2) benevolent 3) provocative 4) therapeutic

While Alex is very spendthrift and spends money recklessly, his brother Stew is quite
------- and spends only when it is necessary,

1) thrifty 2) assiduous 3) gregarious 4) grumpy

Chronic illness can ---------- people in hospital. But what if they could access all the care
they needed at home in virtual wards?

1) suffer 2) necessitate 3) trap 4} involve

The underlying message of the film is that love can transcend all -—--- —

1) impacts 2) barriers 3) analogies 4) interjections

It is no use arguing over such a trifling matter; instead we should discuss the matters of
importance and ---—--- :
1) pragmatism 2) facility 3) priority 4) jeopardy

| PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| cach space. Then mark the correct choice on your answer sheet.

Genetically modified superhumans. Babies born with made-to-order characteristics. The
idea has been explored in everything from academic journals (11} -----e-e-- movies.
CRISPR technology could make it (12) ——=-=mmmm-,

The ability to alter human genes in a way that can be passed onto offspring,
(13) ===------- germline engineering, has long been possible. But (14) ----s-m--
genetically modify animals were so inefficient and crude (15) --=------- no sane biologist



¥ amina 111A .‘EJFAQLWE.FM

would dream of using them on humans. Tinkering with the genes inside people has been
limited to gene therapy, where the changes don’t get passed to the next generation.

11- 1)in 2) through 3) for 4) to
12- 1) to be real 2) as real 3) a reality 4) being a reality
13- 1) called 2) 1o be called 3) which called 4) 1s called

14- 1) until recently the methods available to
2) the until recently methods available to
3) the methods available to until recently
4) until available to recently methods
15- 1)as 2) that 3) because 4) such that

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or{4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The war for independence from Britain was a long and economically costly conflict.
The New England fishing industry was temporarily destroyed. and the tobacco colonies
in the South were also hard hit. The trade in imports was severely affected, since the war
was fought against the country that had previously monopolized the colonies' supply of
manufactured goods. The most serious consequences were felt in the cities, whose
existence depended on commercial activitv., Boston, New York, Philadelphia, and
Charleston were all occupied for a time by British troops. Even when the troops had lefi,
British ships lurked in the harbors and continued to disrupt trade.

American income from shipbuilding and commerce declined abruptly. undermining
the entire economy of the urban areas. The decline in trade brought a fall in the American
standard of living. Unemploved shipwrights, dock laborers. and coopers drifted off to
find work on farms and in small villages. Some of them joined the Continental army, or
il they were loyal to Britain, they departed with the British forces. The population of
New York City declined from 21.000 in 1774 to less than half that number only nine
vears later in 1783,

The disruptions produced by the fighting of the war, by the loss of established
markets for manufactured goods. by the loss of sources of credit. and by the lack of new
investment all created a period of economic stagnation that lasted for the next twenty
VEdrs.

16- Why does the author mention the fishing industry and the tobacco colonies in paragraph
1?7
1) To identify the two largest commercial enterprisers in America
2) To compare the economic power of two different regions
3) To show how the war for independence affected the economy
4) To give examples of industries controlled by British forces

WWW.IRHESABDARAN.R98.IR
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17-

18-

19-

20-

21-

Why were the effects of the war felt most in the cities?

1) The cities depended on manufacturing and trade.

2} The urban population did not support the war.

3) Most of the fishing occurred in the cities.

4) The British army destroyed most of the cities.

The word “abruptly” in paragraph 2 is closest in meaning to ----—-——---- !

1) randomly 2) suddenly 3) negatively 4) strongly

Why does the author mention the population of New York City in paragraph 27
1) To illustrate the percentage ol homeless people in New York

2) To compare New York with other cities occupied during the war

3) To show that hall of Mew York remained lovyal to Britain

4) To emphasize the great short-term cost of the war for New York

What probably occurred during the years right after the war for independence?
1) Shortages ol money and manufactured goods

2) A shift to an agricultural economy in New York

3) A return to traditional methods of manufacturing

4) Development of new shipbuilding technology

PASSAGE 2:

The TARP is a program created by the government for the establishment and
management of a Treasury fund, which was done in an attempt to restrain the financial
crisis of 2007- 2008 1t gives the U.S. Treasury the purchase power, in the amount of
$700 billion, to buy up mortgage back securities (MBS) from institutions across the
country. This step was taken to create liquidity and un-seize the money markets, It was
with a bill that the fund was created which was later turned into law on October 3, 2008
with the passage of H.R. 1424 enacting the Emergency Economic Stabilization Act of
2008. The Treasury will be given $250 billion immediately. and the President must
certify extra funds as they are needed. The additional funds available for distribution
will be in the amount of $100 billion. and then when the final $350 billion is given. the
Congress has the right to stop the additional amounts.

Global credit markets came to a near standstill in September 2008, as several major
financial institutions, such as Lehman Brothers, Fannie Mae, Freddie Mac and American
International Group, went under. In a few surprising moves, heavyweights Goldman
Sachs and Morgan Stanley even changed their charter to become commercial banks, in an
attempt to steady their capital situation. The bailout will attempt to increase the liquidity
of the secondary mortgage markets by purchasing the illiquid MBS, and through that,
reducing the potential losses that could be felt by the institutions who currently own them.

According to paragraph 1, which is true of the Trouble assets relief program?

1) It is done in an attempt to unleash the financial crisis of 2007 - 2008,

2) It gives the Treasury purchase power of § 5700 billion to buy up institutions across
the country.

3) It is a government program set up for the raising of a Treasury fund for the purpose
of saving the US economy.

4) It is created for the purpose of setting up and controlling a fund which will attempt to
curb the ongoing financial crisis.
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22-

23-

24-

26-

27-

What does *it” in paragraph 1 refer to?

1) Treasury fund 2) The financial crisis

3) The TARP 4) The government

According to paragraph 2, why did the global credit markets come to a near standstill?
1) A few financial companies failed financially.

2) Two ol the biggest financial institutions in the U.S. went under.

3) Several of the financial institutions in the U.S. went to steady their capital.

4) Companies like Lehman Brothers, Fannie Mae, Freddie Mac became commercial banks.
What can the word “bailout” in paragraph 2 be best explained as?

1) Changing charters 2) Safety insurance strategy

3) Decreasing liquidity 4) Running away from responsibility

Which of the following statements can be inferred from paragraph 27

1) Liquidity will decrease because of the purchasing of the illiquid MBS.

2) The TARP will bail out liquidity in banks such as Morgan Stanley.

3) The TARP will help promote liquidity by buying out bad capital.

4) Potential losses will be curtailed by banks through changing their charters.

PASSAGE 3:

Governments frequently provide benefits to firms in order to influence those firms
decisions in a manner desired by government policy. For example. governments may
provide incentives for firms to locate in designated areas, ranging from grants,
conditional on the firm meeting certain commitments, to municipal tax relief. Other
programs may be designed to encourage firms to become more capital-intensive, to
assist the capital goods sector of the economy and/or to enhance international
competitiveness. Assistance to stimulate research and development is another common
government policy.

Government assistance plans that do not involve capital items are relatively
straightforward in terms of accounting. Thus. if a firm receives a payment representing
a reduction of municipal taxes in a particular year, this should go to reduce the municipal
tax cost of that vear. These suggestions are consistent with the CICA Handbook, which
states, “Government assistance towards current expenses or revenues should be included
in the determination of net income for the period (paragraph 3800.20).

Accounting for government assistance with respect to capital items can be
considerably more complex. For example. assume that a firm receives a substantial grant
for locating its new plant in a designated area. Under historical cost accounting. we can
immediately account for this grant.

What does the passage mainly discuss?

1) Firms® financial decisions

2) According for government assistance

3) Common government policies

4) The importance of accounting for governments

All of the following are mentioned as the benefits governments provide to firms EXCEPT

1) grants 2) high interest rates
3) tax-relief programs 4) research and development assistance
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28- The word “enhance” in paragraph 1 is closest in meaning to --—------m- -—
1) improve 2) evaluate 3) design 4) identify
29-  Why does the author mention the CICA Handbook in paragraph 27
1) To provide a source for government assistance plans
2) To introduce a useful accounting source
3) To introduce the topic for the next paragraph
4) To provide a definition for an accounting term
30- What does the paragraph following the passage mainly discuss?
1) Principles of historical cost accounting
2) Another government assistance plan
3) Alternatives to account for grants
4) Assistance policies for capital items
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